Addition Horizontale de Décimaux (A)

Calculez chaque somme.

36,27 + 4,8 = 24,8 + 4,6 =
234,050 4 58,9 = 9,365 4 6,406 =
97,410 + 3,5 = 85,48 +9,7 =
180,70 + 26,25 = 797,46 + 7,83 =
353,908 + 243,55 = 2851+ 1,1 =
85,77 + 55,16 = 9,21 + 7,073 =
33,35 +2,1 = 470,968 4 7,9 =
381,40 + 277,548 = 80,4 + 1,83 =
545,272 + 2,062 = 52,819 + 50,741 =
314,76 + 55,12 = 622,4 + 40,3 =
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Addition Horizontale de Décimaux (A) Réponses

Calculez chaque somme.

36,27 4+ 4,8 = 41,07 24,8 + 4,6 = 29.4
234,050 + 58,9 = 292,95 9,365 + 6,406 = 15,771
97,410 + 3,5 = 100,91 85,48 + 9,7 = 95,18
180,70 + 26,25 = 206,95 797,46 + 7,83 = 805,29
353,908 + 243,55 = 597,458 285,1 + 1,1 = 286,2
85,77 -+ 55,16 = 140,93 9,21 + 7,073 = 16,283
33,35 + 2,1 = 35,45 470,968 + 7,9 = 478,368
381,40 + 277,548 = 658,048 80,4 + 1,83 = 82,23
545,272 + 2,062 = 547,334 52,819 + 50,741 = 103,56
314,76 + 55,12 = 369,38 622,4 + 40,3 = 662,7
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